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1. woe MIRRT ¥ Teh! AR Bfere : 1x5=5

Choose the correct answer from the
following :

(@) T CRETA %"lﬁﬁ@ ML C IR e T
'R AMS B T o CMCHT =R

Propene in presence of organic peroxide
on treatment with HBr produces mainly

() 2-IVIA
2-bromopropane
(i) 1-3’XeH

1-bromopropane
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(2)

(i) n-SF
n-hexane
(iv) €°RT 9OI8 T

None of the above

(b)) &R TEeEm RiFme =fe & =@
J(EAS FILACHT (R

The electrophile involved in the
sulphonation reaction in benzene is

() SOj
(i) HSO;
(i) H,SO,
(iv) SO,
(0 IR @R e " @ERY

fRepuier afsdrm Ritmr ogam 2

Which type of hucleopmhc substitution

reactions is shown by primary alkyl
halides?

@) Syl
(i) Sy2
(i) E,
fv) Ez
8p/217 ~ (Continued )



(3)

(@) RTFR T me foare FRAT 73927 70
R (=

The reagent which is commonly used for
the detection of phenolic group is

() NaHCO,
(i) Na |
(i) CHZCOC

(i) FeCly

(e) TR (FTCH AT HOIROLF (R FRET 2

Which of the following amines is most
basic?

() aRfm
Aniline

(i) N,NorRfEmdatm
N,N-dimethylaniline -

(i) NRE=GARR
N-methylaniline

(iv) ST Gbre Ty

None of the above

8pP/217 ( Turn Over )



(4)

UNIT—I

2. (a) CoEeER MO Br W B 1 2

State Saytzeff's rule and give one
example.

(b) == RFFIMOR X = Y e w4 : 2

Identify X and Y in the following
reaction :

CH;—CH=CH, + H,O + Hg(OAc), — X

NaBH,

(c) oo frRRene «Radt +a1 (R @ ypr) :  2x2=4

Convert the following (any two) :
() TR o REB-2-W%A
Ethyne to but-2-yne
(i) REB-2-FF [ afcbeiaRe
But-2-ene to acetaldehyde
(iii) e’PRR o[ AR
Propene to propyne

(d) <R RftrcaR s T (R e fof6t) : 1x3=3

8p/217

Complete the following reactions (any
three) :

. 1) O,
i) HC=CH > ?
2) H;0*
(i) CHy—C=C—CH, alkaline KMnO‘,,_> 5
A
( Continued )



(S)

Br ?r
(iiij CH3;—CH—CH—CHj3 + KOH (alc.)T>? :

(i) CHa—C=CH + NaNH, —13: Nz,

UNIT—II
3. (o) GReR TXGw Riemo P o TR
frmRfR seesn <41 | 1+2=3

State nitration of benzene and explain
its mechanism.

(b) o RRFIER o 7 (R @ i) :  1x2=2
Complete the following  reactions
(any two) :

OH |
0] ezn —29

9
I
(i) @ + CHyCHp—C—c1 A2 AICL

SO;H
(iii) @/ + Hy0 323 KA4T3 K,
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4. (a)

()

(c)

(6)

UNIT—III

word AT oy =11 o T R foran:

1+2=3
Complete the following reaction and
write down the mechanism :

CH3CH,—Cl +OH™ — ?
T FEREERE 9k (el 9 I

W 2 A F9 0 2

Why aryl halides are less reactive than
alkyl halides? Explain.

wers fRare +fids 7 (R e ) :  3x2=6

Convert the following (any two) :

) FIERER [ T ke
Chlorobenzene to benzoic acid

(i) XA F AR [/ Ao R ks
Ethyl chloride to propanoic acid

i) 1-TVACER [} 2-3 9’2o

1-bromopropane to
2-bromopropane

UNIT—IV

5. (o) RoR o[ P afRe @ oFe 3| 1

gp/217

How is picric acid prepared from phenol?

( Continued )



(7)

(b) T RIRT RS AR, RO T
R ERTTR FEE NE YST =,
THEIPTR A 9 ) 3

How can primary, secondary and tertiary
alcohols be distinguished with the help
of Lucas test? Explain with the help of

examples.
() T REAPTR <61 B TIRATR TR
(R @ 9oI) - 2x2=4

Explain the following reactions with the
help of a suitable example (any two) :

() cR-SEem R
Reimer-Tiemann reaction

(i) P a-PE TR ARTPRE
Pinacol-pinacolone rearrangement

(i)  FCo-Io0 Rfe
Schotten-Baumann reaction

(d) o RfgaarR o 3 (R e fofir) : 1x3=3
Complete the following reactions
(any three) :

0) @/ 2 (H] —2He/H0

(i) +H0 —> 5o




(8)

CH,—OH
\ KHSO,, .,
(i) CHR—OH ~—x °°
CH,—OH

(iy) CHz—CHy—OH + Na ——>?
UNIT—V

6. (o) R RS TKERR RS XA Crieg
4TS T4 | 2

Prepare ethylamine with the help of
Gabriel’s phthalimide synthesis.

(b) oo Rfdpmcam = Fw (R o fofibr) : 1x3=3

Complete the following reactions
(any three) :

N=N'CI’ OH

. . H=0-
(l) + P 9-10 2
' 0°C-10 °C

(i) CH30H2CONH2 + Bry + KOH (aq.) —> ?

NH, .o
(iii) + Br, (aq.)

(i) CHaCH,CHy—NHj + CHC + KOH (alc.)
_ﬁ?

Conti
ap/ 217 ( Continued )
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( Old Course )

Full Marks : 48
Pass Marks : 19

Time : 3 hours

1. oo FHERE wE Tewel AR BEe 1x5=5
Choose the correct answer from the
following :

(a) aw’z’aawqaﬁﬁ@aﬁ@masﬁatﬂw
FACE PRI 2eaeH X ?
To prepare alkyl halide from alcohol
which of the following reagents will be
required?
(i) ZnCl,
(ii) PClg
(iii) AlCl,

(iv) Chlorobenzene

(p) BerS RIRTI TS AR @=L 4TS
SR AAENT (AT TR

To prepare primary alcohol using
Grignard  reagent,  the required
compound is

(@) «woa

Acetone
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(c)

@i

(10)

FAARRG
Formaldehyde

(iii) B

Ethanol .

(iv) ST qBie T

None of the above

TR R CAfbRRS S RS (o-H)
RCE ?

Which of the following aldehydes does
not have a-H atom?

()

iy

(i)

(iv)

T e
Acetaldehyde
A’

Propanal

e efkcbefeiee
Phenylacetaldehyde

SRS

Benzaldehyde

(d) T OO fRed wfeel bR @R 9

Which of the following acids is most
acidic?

gp/217

()
(i)
(i)
(i)

CH,COOH
HCOOH
F—CH,COOH
CH 3CH,COOH

( Continued )



(11)

(e) 2 3 W AR 9k Tee RiER
TS o (AT (RAICOT TR

Reaction of ethylamine with nitrous acid
produces

() CH,CH,—OH
(i) CHz—OH
(i) CH;z—CHO

(iv) CH 3—‘0—CH 3

UNIT—I

2. (a) oo RFACH 7=d I TF T Syl A Sy 2
(@R AR oS T TEy Rfgmmor
iR e 90 Vot Yp+2=3
Complete the following reaction and
mention whether it will proceed through
Syl or Sy2. Discuss the mechanism of
the reaction :

(CH3);C—Cl + OH™ —
(b) CRREEE SCRT RIS SR N 0
| , 2

Prepare diethyl ether with the help of
Williamson synthesis.
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(12 )

(c) =T IR RIS =11 (R e wht)
Convert the following (any two) :
() FIFAGT [ @R
Chlorobenzene to benzene
(i) WETHITE [ 2R R
Ethylchloride to propanoic acid
(i) 1AL o[ 2-3T° 2o

2x2=4

1-bromopropane to
2-bromopropane

(d) e RIFNER =91 71 (R LAY :  1x2=2

Complete the following reactions (any

two) : ,
() CH3CH,CH,—Br + AgCN A 5,
CH,3
(ii) +Cl, —FeCls
cl
(iii) + Mg 9y ether_
UNIT—II
3. (o) SHRETRAR TR R 0 @EWE oo =

]q?
How can phenol be prepared from
diazonium salt?

8p/217 ( Continued )
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(@)

(e)

8P/217

(13)

Poé ReReR e IfRA @R o[
REWA AR, ekl W SiRgd

T’ oS T4 W ? TP M F9M1 1x3=3

How primary, secondary and tertiary
alcohols are prepared from carbonyl
compounds using Grignard reagents?
Explain with examples.

e o[ Pl affs e g P WY 1
How can picric acid be prepared from
phenol? -

wod RRFEER G@h Toe HRw RS
< < (R G o) : Ix0=4
Explain the following reactions with the
help of a suitable example (any two) :

() EE-SRe Rfd
Reimer-Tiemann reaction
(i) TSN T4
Oppenauer oxidation
(i) PR PR TR R
Pinacol-pinacolone rearrangement
wod REEFTER 7 ¥ (R @ gpn)  1x2=2
Complete the following reactions (any
two) : :

(|2H2—OH
KH
(ij CH—OH _Aso_i”
CH,—OH

( Turn Over )



4. (a)

(b)

(c)

gp/217

(14 )
OH
(ii) + Conc. HNO3 — 5 5

NaNO,/HCI

(i) R—NH, + HNO,

UNIT—III
T AW RS GRGARRRTE
3-3G RREBICET “iRes w11 1

Convert acetaldehyde into 3-hydroxy-
butanal with the help of aldol
condensation.

oo RigaerR 3= =1 (R e gdn) :  1x0-2
Complete the following reactions (any
two) :

. B P
() CHy—CH,—cooy Lr2/RedP

?

o
Il
(iij Ph—C-—Ph + H2C=P(06H5)3 —>?

Conc. NaOH .

(ti) 2HCHO —>?
o R Rva 9@ b Soe S
EEe o (R e o) 2x2=4

Write about the following reactions with
the help of a suitable example (any two) :

(i) e SR R

Benzoin condensation

( Continyed )



(@)

5. (a)

(b)

8p/217

(15)

(i) Rescntz Rigm
Reformatsky reaction
(i) TR RERd

Clemmensen reduction
wgezae 91 (R e wiko) 1x4=4
Synthesize the following (any Sfoun :
() ¢3f afRE / Phthalic acid
(i) CTEEvRRE / Benzaldehyde
(ii) fEACTERRS / Cinnamaldehyde
(iv) CTETe 9f¥® / Benzoic acid
() @&’ % / Benzophenone

UNIT—IV

caifcaa (AFITS MERR TS 24’1 iz
oS 91 | . 2
Prepare propylamine with the help of
Gabriel phthalimide synthesis.

41 ST TR TS IRz AWl
Ay ¥ 1

Explain carbylamine test with the help of
a suitable example.

( Tum dver)



(16 )

€ R, oEeR WF HRER aTiR" ER
«f%eq Are FTed RS 3032 Toe R
MERICRTIR IS 3
How primary, secondary and tertiary

amines react with nitrous acid? Explain
with suitable reactions.

(d) EAW NaOH 3 TR Tif¥fos @@itm e R
FIRee e @ Rfdmn ofbetar i &
T2 el R fran | 2
What happens when benzene diazonium
chloride reacts with phenol in presence

of aq. NaOH solution? Write the
chemical reaction.

(e) oo ez = 1 (R @G qor) :  1x2=2

Complete the following reactions (any

two) :
NH,

U +Bry —?
NH,

(ii) + HpSO4 ——=>7

60 °C

[
(lll) CH3—CH2—C—NH2 + Br2 + NaOH (aq)

ey
L& & 4

4p_7000 1217 3 SEM TDC CHM G 1 (N/O)



